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Direction (Q.1 to Q.5):- 

 Study the following information carefully and answer the question given below. 

A, B, C, D, E, F, G and H are sitting around a circular table facing centre. H is fourth to the left of B and 

second to the right of F. A is third to the left of C, who is not an immediate neighbour of F. G is second to 

the left of A. D is second to the right of E. 

 

1. Who is on the immediate right of F? 

(A)  H   (B)  A   (C)  G   (D)  E 

 

2. Who is third to the left of A? 

(A)  C   (B)  F    (C)  B   (D)  G 

 

3. In which of the following pairs is the first person sitting on the immediate left of the second person? 

(A)  EH    (B)  DB   (C)  CE   (D)  AF 

 

4. Which of the following pairs represents the immediate neighbours of E? 

(A)  DH   (B)  HC   (C)  CA   (D)  None of These 

 

5. Who is on the immediate right of H? 

(A)  E   (B)  C   (C)  H   (D)  F 

 

Direction (Q.6 to Q.10):- 

 Study the following information carefully and answer the question given below. 

A, B, C, D, E, F, G, H and K are sitting around a circular table facing centre. B is fourth to the left of G, who is 

second to the right of C. F is fourth to the right of C and second to the left of K. A is fourth of to the right of 

K. D is not immediate neighbour of either K or B. H is third to the right of E. 

 

6. Who is fourth to the right of D? 

(A)  K   (B)  H   (C)  E   (D)  B 

 

7. In which of following combinations is the third person setting in between the first and second 

persons? 

(A)  EKB  (B)  CHB  (C)  AGC  (D)  FGD 

 

8. Who is third to the right of H? 

(A)  A   (B)  D   (C)  G   (D)  F 

 

9. Who is the fourth to the left of E? 

(A)  A   (B)  C   (C)  G   (D)  K 

 

10. Who is second to the right of K? 

(A)  C   (B)  H   (C)  F   (D)  E 
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Direction (Q.11 to Q.15):- 

 Read the following information carefully and answer the question given below. 

Six People C, D, E, F, G, and H are standing in a straight line facing north not necessarily in the same order. D 

is second to the right of F. C is standing fourth to the left of H and H is not standing on the extreme end of 

the line. E is standing second right of D. 

 

11. What is the position of G with respect to E? 

(A)  Immediate left    (B)  Second to the left    

(C)  Third to left    (D)  Third to right 

 

12. Which of the following pairs represents the people standing at the extreme ends of the line? 

(A)  FH   (B)  CE   (C)  DE   (D)  DH 

 

13. Who is standing second to the right of C? 

(A)  F   (B)  D   (C)  G   (D)  E 

 

14. Three of following four are alike in a certain way based on their positions in the above arrangement 

and so form a group. Which of the following does not belong to the group? 

(A)  CG   (B)  GE   (C)  GH   (D)  DE 

 

15. In all the people are asked to stand in an alphabetical order from left to right, the positions of how 

many will remain unchanged?  

(A)  One  (B)  Two  (C)  Three  (D)  Four 

 

Direction (Q.16 to Q.20):- 

 Read the following information carefully and answer the question given below. 

A, B, C, X, Y and Z are seated in a straight line facing north. C is third to the right of Z and B sits second to the 

right of C. X sits to the immediate right of A. 

 

16. Which of the following represents the pair of persons sitting exactly in the middle of the line? 

(A)  XB   (B)  ZB   (C)  BX   (D)  XC 

 

17. What is X’s position with respect to Z? 

(A)  Immediate right to Z   (B)  Second to the left    

(C)  Third to the right    (D)  Third to the left 

 

18. Three of following four are alike in a certain way based on their sitting positions in the above 

arrangement and so form a group. Which is the one that does not belong to the group? 

(A)  ZA   (B)  XC   (C)  CY   (D)  XA 

 

19. How many persons are seated between A and C? 

(A)  One  (B)  Two  (C)  Three  (D)  Four 

 

20. If A : X and Z : A, then Y : ?? 

(A)  Y   (B)  B   (C)  A   (D)  X 
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Answers 

1. [B] 2.  [C]       3.  [B]       4.  [B]       5.  [A]        6.  [D]       7.  [D]        8.  [C]        9.  [A]      10.  [B]    

11.  [C]      12.  [B]      13.  [C]      14. [B]     15. [A]      16.  [D]     17.  [D]      18.  [B]      19.  [A]      20.  [B]  

 

Solutions 

 

Solutions (Q.1 to Q.5) 

 

1. A is one the immediate right on the F. 

2. B is third to the left of A. 

3. D is sitting immediate left of B. 

4. H and C are immediate neighbours of E. 

5. E is the immediate neighbours of H. 

 

Solutions (Q.6 to Q.10) 

 

 

6. B is fourth to the right of d. 

7. D is sitting between F and G. 

8. G is third to the right of H. 

9. A is fourth to the left of E. 

10.  H is second to the right of K. 
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Solutions (Q.11 to Q.15)  

 

D is standing second to the right of F i.e. F*D. E is standing second to the right of D i.e. F*D*E. 

H is not standing on the extreme end of line and C is standing fourth to the left of H. 

So, H must be standing between D and E. 

Final position will be as following. 

 

Facing • • • • • • 

North  C F G D H E 

 

Solutions (Q.16 to Q.20)  

 

According to the given information, the final arrangement is as following. 

 

Facing • • • • • • 

North  Z A X C Y B 

 

16. X and C are sitting exactly middle of the line. 

17. X is second to the right of Z. 

18. X A does not belong to that group because in this pair, second person is sitting to the immediate left 

       of first person, while in others second person is sitting to the immediate right of first person. 

19. Only X is sitting between A and C. 

20. In the given two pairs, second person is sitting to the immediate right first person. B is sitting immediate               
right of Y. 
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